¥ B FKER

W E w = £ R AREACH % E 7 wOF Bofve s
TR R 1 =
i3 " ( ) &
' % B o A
B A H

# ; I

SFn 3 A BB E 2 | o8 BB CEf. W)

i T T ¥hEm EERFEET1TH., @¥%E1 - 2 TH HWN
S 4 EE 1 5. MEER/\ER, TEEREMER
T 4, ERZENT 1 T H O£400mnll PR S AAs: T5H




RS R

ol ® B BAAT el W
g% T DIP ¢ 400 m 113.5 -
DIP ¢ 300 m 0.9 108. 7
DIP ¢ 250 m 0.9 -
DIP ¢ 200 m 13.2 64.7
DIP ¢ 100 m 1.2 24.0
DIP ¢ 75 m - 3.3
HetE T ¢ 500 m 72.9 -
i ¢ 400 m - 72.9
WET L7 ¢ 400 S 2 -
AREIE RN 1 - 4
AREIE I 1 1 2
= 2 PN i 857 ¢ 100 fEET 1 3
X A HE15 ¢ 75 & AT - 1
7RI ¢ 25 & A 2 2
R 675 P - 1
=T DIP ¢ 400 m 1 -
CIP ¢ 400 m - 1
DIP ¢ 300 m - 17
CIP ¢ 300 m - 13
CIP ¢ 200 m - 11
CIP ¢ 100 m - 17
(R AR T = - 1
H?ﬁ'I SEHL T = - 1
- S S 236, 467, 000
(N R
T =x il ¥ 214, 970, 000 4
M2 B % MY 21, 497, 000
M-8 HERFRCLERE G, T




AR LFHEHNRE

Bl - TFE - FER - AR - B ==X va 7 il & %A e firg =
B (i) .
g 1 53,078, 184 | 2t BAT
B E X TONORREHEE, B 28500mm, /)N R TEKHEE T) &
g | 16, 884, 183 | LTEAT
N AKHEE T \
=
1 8, 824, 836
R T Oha) [#214] )
=
1 1,234, 306
2% PEIERRE L [ ] )
=
1 1,537, 091
Ve LB T (] \
7
1 1,797, 135
PR R T [ /M) ‘
=
] 3,229, 725
HEE AR T[] .
=
1 261, 040
HEMEE N ¢ 4004 T35 (&) N
g 1 16, 418, 018 | LHEAT
e ‘
=
1 14, 307, 875
BT[] ‘
=
1 2,110, 143
-8  FRCkEE EE. EH) B ETFKER



AR LFHEHNRE

EH - TR - fER - AR - K ==¥va H i 4> %A e fii %
o 400 A T % (i) "
g 1 12,420, 312 | LFEAT
M .
=
| 8, 071, 902
+T
"
| 2,022, 806
BT (%) .
=
| 1, 495, 604
& 200458 T (B fi) St
g | 3,515, 775 | LTEAT
M .
=
| 2, 463, 612
+T
"
1 647, 020
BT[] ‘
=
| 405, 143
¢ 4Q0RERR & itk T2 (&) &
5 1 4 sa6 | THEFT
=T
"
| 4,846
R T (B&Ai) =«
g | 3,835, 050 | L TEAT

-8

SRR A (. )

B L FoKGE R



AR LFHEHNRE

Bl - TFE - FER - AR - B ==X va 7 il 4 %A e firg =
e ‘
=
1 3,835, 050
B (R "
g | 83,799, 673 | ¢ FAT
B & X TN O RAE HEEE, 4 £2400mm, /)N DR K HERE T) &
g 1 10, 613, 557 | LHEAT
BT AHEE T |
=
1 7,658, 331
e RGN I €idih)| ]
=
1 1,162, 684
P PERRR R L [#24] )
7
1 1,070, 826
Ve T [7H] e
g 1 460, 676
HeE K T [ R] .
=
1 261, 040
HEMEE N ¢ 3004 135 (B 37) N
g 1 11,922, 114 | LFEAT
e ‘
=
1 9,891, 005
BT[] ‘
=
1 2,031, 109
-8  FRCkEE EE. EH) B ETFKER



AR LFHEHNRE

Bl - TFE - FER - AR - B ==X va 7 il 4 %A e firg =
o 3044 T % () "
g 1 7,804, 884 | LFEIT
M ‘
=
1 6, 333, 136
+T
<
1 886, 664
BT (%) ‘
=
1 585, 084
¢ 200448 T (E57) St
g | 8, 108, 602 | -TEAT
M )
7
1 5, 405, 688
+T
"
1 1,739, 938
BT[] ‘
=
1 962, 976
¢ 100448 15 (F8T) o~
g 1 2,840, 848 | LTEAT
e ‘
=
1 1, 453, 956
+T
©
1 978, 241
-8  FRCkEE EE. EH) B ETFKER



AR LFHEHNRE

Bl - TFE - FER - AR - B ==X va 7 il 4 %A e firg =
B [1&H] .
=
| 408, 651
¢ 3Q007H AR E T2 (FEHT) it
g | 664, 552 | LTEAT
M E )
=
| 617, 152
BT (%) ‘
=
| 47, 400
IR ZKkpEE = () X
g | 11, 860, 725 | LHEAT
M )
=
| 6, 452, 532
+T
"
1 1,455, 108
BT[] ‘
=
| 3,953, 085
¢ A00RERR S = T35 (GE 3 N
g 1 200, 350 | LFEAT
+T
"
| 931, 804
BT[] ‘
=%
| 31, 454

-8 AtEch R CEfE. )

B L FoKGE R



AR LFHEHNRE

Bl - TFE - FER - AR - B ==X va 7 il 4 %A e firg =
o 300BER 3= T 3 (03 "
g 1 1,552, 938 | LFEAT
M .
=
| 374, 162
+T
"
| 1,090, 355
BT (%) .
=
| 88, 421
¢ 2008ERR & it L T2 (R e
g | 614, 376 | LIRIT
+T
"
| 599, 611
BT (%) .
=
1 14, 765
¢ 1QORERR & it E T3 (EH) e
g | 381, 107 | LTEAT
M .
=
| 64, 598
+T
"
| 990, 107
BT[] .
=
| 26, 402

-8 AtEch R CEfE. )

B L FoKGE R



AR LFHEHNRE

EH - TR - fER - AR - K ==X va ¥ & B il 4> %A e firg =
BERRE FetE 15 (R X
g 1 639, 721 | LTEAT
M ‘
=
1 379, 233
BT [&H] )
=
1 260, 488
-+ =R (R T) &
g 1 578, 608 | LTEAT
+ T [#%#] .
=
1 578, 608
ERLLARIEIR T R N
g 1 1,898, 895 | LTEAT
T[] ‘
=
1 1,898, 895
SEY T <EREU—y )7 SEHT ¢ 25000<238> N
g | 19, 032, 196 | LTEAT
BT
©
1 1,282, 868
s KR TR O+ "
g 1 17, 168, 342
SEYUER i T ‘
=
1 580, 986

-8 AtEch R CEfE. ) B L FoKGE R



AR LFHEHNRE

EH - TR - fER - AR - K ==X va ¥ & B il 4> %A e firg =
R T (R T) X
g 1 5, 086, 200 | LTEAT
ik L .
=
| 5, 086, 200
BT S
"
| 136, 877, 857
R A .
=
| 13, 032, 772
Ham R (B BT 08 ]
=
| 1,852, 772
TE R .
7
| 552, 752
=
1 481, 940
ez ‘
=
| 253, 400
Bk gy )
=
| 564, 680
AR CRE L) .
=
| 11, 180, 000
il T .
=
| 149, 910, 629

-8 AtEch R CEfE. ) B L FoKGE R



AR LFHEHNRE

el - TFE - FER - AR - RS BT & Al & #E e 1 %
B 45 B
&
1 38, 455, 000
B i ‘
=
1 188, 365, 629
— iR PR )
=V
1 26, 604, 371
— R R R .
=
1 26, 604, 371
T =M .
=
1 214, 970, 000
THEBIAH %A )
=
1 21, 497, 000
X EIIAS ‘
=
1 936, 467, 000

-8 AtEch R CEfE. )

B L FoKGE R



